
1

→║←40mm 5,98 x 5,00+2,1        40059

 Ø4



2

1

4

5980 1
400384

5000
400068

46+1

285
400039

34

390
400253

9

8

7180

401015
1

5

1035
400386

97

9

Al
le

 m
aß

en
 c

a 
+/

-3
%

2170
190

6

2935
400387

8

SPECIFICATION
→║←40mm 5,98 x 5,00+2,1        40059

Länge Quantity
Ref.NamePos.SkizzeDim.

1
1
0

40

5
5

40

2 285 2
400061Front Brett

2935 1
4000623

1
1
3

40

5500
400069

310
6000

400070
311

6500
400071

3

590

1090

1590

7180
401016

1

13a
13b

Seiten Brett

Zurück Brett

Front Brett

Front Brett

Front Brett

Front Brett

Zurück Brett

Seiten Brett

Seiten Brett

Seiten Brett

Seiten Brett

5980 17+1
400385Zurück Brett

12

4995
401071

1

5
0

40 14 Seiten Brett

2185
401068

114a Seiten Brett
(Spiegel, Mirror)

2170
190

21854995

4995
401072

1

5
0

40 14 Seiten Brett

2185
401070

114a Seiten Brett
(Spiegel, Mirror)

2170
190

21854995 M
M

Spiegel, Mirror

7180

7180



3

19 7180
404021

4

96

1
9 22 3150

284510
164

(130)

1
6

5

57

→║←40mm 5,98 x 5,00+2,1        40059

2190
190

660

x5980

402014
121

20 1850 2
287103

9
0

90

24 3180 4
2850151

9

98

25 3180 4
2865111

9

48

26 200 2
2869901

9

98

SPECIFICATION

Alle maßen ca +/-3%

Sparren

Wandpaneel

Pfosten

Dach Bretter

Wind Brett

Wind Brett

Dekor

1795 8
286071Leiste

98

1
4 23a

28

2
8 23b 1795 8

286072Leiste

(121)

402057

2561

5980 215 Front/Zurück Brett

402056
5230 216 Front/Zurück Brett

402055
3775 217 Front/Zurück Brett

402054
2560 218 Front/Zurück Brett

27 2100 4
286801Wind Brett1

9

45



4

→║←40mm 5,98 x 5,00+2,1        40059

TR3

1TR1

1963

1TR6

1500 1TR4
Türstufe

1850x

765

1
289006T1

Tür
1850x

765

1
289006T2

1850x

765

1T3

Über Türrahmen

Türrahmen links

Türrahmen rechs

SPECIFICATION

Alle maßen ca +/-3%

745 1TR8

1700

945

1

1

1963

1963

1963

TR7

TR5

TR2

1

1

1576x

1076

1
409102F1 Fenster

Tür

OPTION
Dachpappe

Bitumen Schindeln

285519

285520

409224

409228

409225

409225

409226

409229

409227

409230

289015



5

Dim

Ø5.0 x 100 8
Qté.Pos.

Ø3.5 x 40100

Ø2.0 x 40 660

→║←40mm 5,98 x 5,00+2,1        40059

Ø5.0 x 120 12

M8 x 60 4
8
4M8

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,9x32

M5x60Ø3,9x32

Ø2,5x16

Ø3,5x30 Ø2,5x16

Ø3,5x30

x2
Ø4,0x20

x2

x2x2

x2 x9

Ø4.0x60 x2

Ø4.0 x 60 8



6

→║←40mm 5,98 x 5,00+2,1        40059

1

60

!

2

4

4

4

5

5

6

7

8

9

1

2
3

2
4

4
4



2

7

→║←40mm 5,98 x 5,00+2,1        40059

3

TR1

TR2

F1

Ø3.5x40
 Ø4

F1
TR1
TR2

11
12

6

7

9

4

4

4

10

13b

1011
12

13a

4



8

→║←40mm 5,98 x 5,00+2,1        40059

5

15
16

17
18

111210

14a

15
16

17
18

14

6

19
19

19 19

20

20
21

2

Ø4.0x60
Ø4.0x60

20
20

1

!

2

Ø5.0x120 Ø4

Seiten Brett
(Spiegel, Mirror)14m

Ø4,0x60
 Ø4

14

14a

14a14



25
24

242526

25 24
25 2426

23a
23b

23a
23b

23b
23a

23b
23a

9

Ø3.5x40

M6

Ø6 M6x80
Ø6

Ø6

27

27
27

27

27

10
0m

m

→║←40mm 5,98 x 5,00+2,1        40059

22

7

~3-4 mm 22

22
Ø2x40

2

Ø3.5x40
 Ø4



10

T1

Ø5.0x100

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x30

M5x60

Ø3,5x30

TR

TR1

TR2

TR3

TR4

Ø2,5x16
Ø3,5x30

T2

T2

Ø2,5x16

 Ø10
TR4

TR4

Ø3,5x30
T1
T2

TR2

→║←40mm 5,98 x 5,00+2,1        40059

T2

TR1



11

Ø5,0x100

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x30

M5x60

Ø3,5x30

TR

TR5
TR6

TR7

TR8

Ø3,5x30
TR1

Ø4.0x30
T3

TR6

T3

→║←40mm  3,0 x 4,5     40059

14 / 14


	Sheets and Views
	40059 Montazas shema-1
	40059 Montazas shema-2
	40059 Montazas shema-3
	40059 Montazas shema-4
	40059 Montazas shema-5
	40059 Montazas shema-6
	40059 Montazas shema-7
	40059 Montazas shema-8
	40059 Montazas shema-9
	40059 Montazas shema-10
	40059 Montazas shema-11


